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zwID = zZeigerwert
aID = zArt

Physical Data Model
Model: datapoolx
Package: fachstruktur
Diagram: main
Author: Date: 14.12.2009 
Version: 

2007-05-20  klopfer: art, zeigerwert, zeigerskala, deckung neu
2007-05-21  klopfer: weiter

art

 aID
aBezeichnung
aFachbezeichnung
aCode
aKuerzel
aNummer
aGattung
aAbteilung
aGruppe
aAutor

 int
varchar(80)
varchar(80)
varchar(20)
varchar(20)
varchar(20)
varchar(80)
int
int
varchar(40)

 <pk>

zeiger

 zID
zArt
zZeigerwert
zZusatz

 int
int
int
int

 <pk>
<fk3>
<fk1>

zeigerwert

 zwID
zwBezeichnung
zwCode
zwSkala
zwAbteilung
zwQuelle

 int
varchar(255)
int
int
int
int

 <pk>

bs_element
(<FLIB>)

bs_quelle
(<FLIB>)


